(JFG(F SIS AT 2025-2%

AJTLTS 3 IYIIAR A_]IIP

JIETACTR Te1RY @YY P i fofsesifesi st suia sifFgieas w9
B QFT0 (*PIT T, FFIT GIRIF QT F2R FO1F | QIO (@At 9o«
fAfbo a1 wore afsaiforas a3t afdrar a2 afsafier sioa ae [t
IFRI PA7@ AP QB6 WA Tt |

Q3 THEDB 2025-22 FAFRET @akiRas SfS *13%19 eea g o g
RIS R cofd T3 aam | @ft FrsIfionR “I991 439, 03T IS IR
T RTT 5o E a6 =018 g17en e siarw 3@ &fStt aeas A 15
TG 3 NIIAT CHca [T AT AT IR, Tl A HFFOE ARG 1RO
FAA|



Siafawst (Biology)

1. FI9IMaT o 9T 196 worfaars?

. NIRGIHT (mitosis)

. FRefss7 (meiosis)
TR (amitosis)

. fareifsst (synopsis)

©ad: (a) IR (mitosis)

TR : IR SRR T A FogIN I3GIH™ afermr @y Rererds
SRR

o0 oTw

2. (196 Iesifog qa<s ?
a.
b. Q@GN
C
d

T8d: (a) @Iy

AT : (IRICSIN ILTITET L9 3 IR |

3. AAFAET T ATFTT 9F A YIHFICSI AH Fo WY e« (of 7 37 ?

on oo
(e)]

T8 (b) 6

AT STCAFIREITY AfFIT 9T WY YIS AT © T HRCSE 8 © [ A1 Teorg
LR



4. ©f%w g9l AT o CNfEo 37 &9 s Iaft ?

K+
Fe**
Mg++
Ca++

QN oo

T8q: (a) K*

7T Sfew FIRT FTAGE wo s 37 AR wiEe (K*), 3 aft Sfems 3 a3
RSy ey afdram awgsd g |

5. &1 P (China rose) WFIfRIassT &G ?

AT
TR
IS
JA
T8 (b) TrdI™

AT : ST PEAT ANIIAT SPIRAIZA I T |

on oo

6. [63 @19 AfTTT FICIT WOIF 12T TS 8 FA AH ATT?

IR
G
o=

Ted: (a) I

N oo

TN : PITPJOTT WO ATOT 8 pe] K AT |

7. B3 19517 T T4 IfAIF IR IRFATTT (F1af6 eoiad FI1 3W?



d. 49

T8 (a) S[RE

AT : Mo (IR SHERI BEF NN LA WRRNSTR SATIN G eirew
THBIRF 8 T T ATOIE WRIMPIY I (2|

Here's the content from the next pages, formatted as you prefer:

8. (I 4I(FF HITAT ATOIF AaI&F (YT %?ﬂllr‘sl\') II?

on oo

T83: () qe
JTATT : F 36 @I (A 10 A |

9. ATSIR ATGT B IAT 3H-

a. af¥r" (epithem)

b. nfFE (cambium)
c. IWH (cortex)

d. @onfSFer (mesophyll)

$83: (d) GoTfse
AT : PATOIR 1SS O oTifee I =271

10. AFATCSEI TIATRIGTS (FFFT FKI IAEI (1T 419 6?2

a. citric acid cycle

b. oxidative phosphorylation
c. electron transport

d. glycolysis

T@d: (d) glycolysis



AT ARSI NFARIOCS F 1T T& IS A9 2| TAMO A AT 19
ABHIAROT|

11. faeg @19 (@1fo T #nfice waafT?

SUIEEE]

YO
ceonta

83 (c) gofaa
AT Pfaa oy 3w THIN |

on oo

12. Cycad a3 (T ASITT 2TST AT G2 JjI50 3T ?

Cycas revoluta
Cycas indica
Cycas pectinata
Cycas cercinalis

on oo

&ed: (d) Cycas cercinalis

AT : Cycas cercinalis @3 6 #ATST AFRAF AG! 8 BRI 84 R 3970 27|

13. (1S &I (&9 WNT DNA JIFY 96 ?

M 7
G, 7™
S 7
G, I

QN oTow

T8q: (c) S WY

AT 1T 5@ S (Synthesis) 7 DNA SRREEFT T efsfaforsas a6, @A s
@EICEIN g St toff @I




14, @19 sgfors fags gres a3 337?

oogenesis
apogamy
sporogenesis
g9

on oo

%ed: (b) apogamy

7T fER1Y =Gl SR o) Q@ IE! @1 (@ @9 R aAf S sy iy |
qC%a fAw =Iei3 @ 93 231

15. IIFISTEI (1T (O6 WIR! AAf7I6 Sfgma etgna g «r1?

a. WHo! 35
b. Irgert I
C. | Igol
d. oreEar gy

T8d: (a) WHo! 3
AT : ITNGEI NGOl JIT (I LTI Mg 2|

16. Sflgn (FFT WIS pH T I &H0 ?

. fSefserem
. STIRBIETN
SAEREIE

IO

T8 () FIF 9=F

QN oo

YT (IF KT QIFT W98 pH 961 IE|




Zoology

1. FIIIAERT (1T J LT AICHT (&N Jraig I 73S 37 2

on oo

Ted: () IPo
AT : TP IAIGE QAR I (seoo FfS/RIB) 7 1fzs 731

2. AN (I BF 1AL (1T INF?

S[SIN]

. RS
ISP RS
. RS

onNn oo

T8q: (b) o
AT ; FRAGHIAICS B 8 CNIY (@Y I

3. &Y WIRIY NTGjT(@/ Y YT A AT 3P 7?7

N AR
. N AYIR
IO AYR

. QT AR
T8d: (c) T ART

onNnoTow

AT : TN AR FO9ITS © AYIR (A TR BF 77 QIR WY Q P9 A
YIH |




4. JIQUCH (P19 4997 immunoglobulin 1F?

IgM
IgE

Igh
IgA

on oo

&ed: (d) IgA

AT : FEF & [gA 28T T QIR IR F& ANSANAIR 59 FRrasg oreg Barsfts =71

5. FIFET TAST (T AFDT AT AICEE 4 ?

11

Ted: (d) I ey

AT : TMIIST I i wikfRo I @G ([Fe)-a3 21t gaa=s oIl W&
7 DRV Q FD (3 Y TR IS (Ao 27|

6. 'geroifs' ag gfesare! (19 4997?

iR
etz

e
weifssray
Tad: () fgemdfy

ATt : G afssry: o=, e, I

QN oo

7. 8L QT F1F AP (ITF TPCOFI3H IFWF HiIo 377?

a. Rt a3
b. sufiar sifSTt

c. 3PN ST



d. ofrar Spresr
Twq: (d) Feefrar oty

AT : AT SUIAIGH- f375 T @ afF (I grearss @ FFo 27 1 fSgsrer
[CiRiIERIER RG]

8. It WiFretag Fral (0, saturation) 8 IT™q AT IgT 9 34-

e ARG

. qIfReE
IRCRIGINCIBINES

ENGIRIRE]

T8 (a) e HfHNGIT

I AT NHATNGIET AR 6 ARCSET Fhal 8 Taoiaiq Ao 511 |

on oo

9. (JIET (FIF WHF JTLICT AL (F7?

. TS
P!

<

T8 (c) 7

QN oo

TR : ARG e (12 g1 P9 5794g 27, g 5105 AT Ferpia SRy 5=
Y IR | SHIRITHRA: (@I, (@il ZofIfm|

10. (19 Agforo @IfeT o ONsiGg 4F© 13T 917

a. $91q (subunit vaccine)
b. faf$x (inactivated)

C. QIHFTA9a (MRNA)

d. ==f&T (toxoid)

e (d) [Refax



7T : Toxoid Vaccine O Swizd<l- Diphtheria @ Tetanus | GIfSE- 55 QTSI
mRNA, Inactivated @ Sub-unit *&fSto tofF z@T=|

11. (19 I& B9 "Cell-mediated immunity" QT AL FTHADIS ?
a. 3sfiiEIfse (eosinophil)
b. fB-feieap™13G (T-lymphocyte)
c. feGIfs (neutrophil)
d. Qonfse (basophil)
T83: (b) fo-feresponas (T-lymphocyte)

AT T TN &AfST6t (Cell Mediated immunity): Qo T-[FCHSTEG 49
gﬁlﬂﬁ qItq | Here's the content from the next pages, formatted as you prefer:

12. (19 QFe3T WIfNT 2AfForcs 5wy @2

. PO

. fgoife
TTAIRETS

. SRS

@3 (b) fGoif

AT ST HAfFonssIat (enfosenaits) asenzas eieifsE, f§olE, sRmEfgete,
SfAEfGoAf|

QN oo

13. 19f6 autosomal recessive disorder?

a. WAV

b. SIe-s51ge I<frFrot
c. JropIit

d. fReifsfersn

T8 (a) WYt

JTT : WA &B=q (Recessive) f[HA f&iag a<prera S Fraog a @191 331
AT ST autosomal gene. TR AF ot ITFo!l, Troa!, REem o
oo foTareIg |



14, (BT QFS3Y =TT ¥ 2ATSTT IIF?
. fGefsa

o N T QD

T3 (d) brafes
AT : AR {8570 AA1- Brafera @ oo aTGiz A |

Chemistry

1. f9e7 19 0 @AfST Ie@ -4t 0= 2

-CH

. -Br*
-CHO
. -NO>

onNn oo

T8d: (b) -Br
AT : -Br JAB6 Q@S I W-2011 Ao

2. 319 @aift 1 wnfaa (carby amine) Rfear (am?

R.NH
CsHsNH-R
R-NH;
RsN

onNnoTow

T8d: (c) R-NH,
AT : R-NH, 1 smifae [{f& s o




3. fqeg 19 RfSETra TER=Ig S99 Bl oerg 91372

CaCOs(s) = CaO(g) + CO:(g)
250:(g) + O(g) = 250s(g)
N.O4(g) = 2NO2(qg)

Ha(g) + I.(g) = 2HI(qg)

&8 (d) Ha(g) + I(g) = 2HI(g)

o0 oo

NI : Ha(g) + L(g) = 2HI(g) 9T SOTHTF @IS 7L AN | BIR, QTS BT SO @3 |

4. fz ororarary 99 9ft fAf@argla s s $31 23 997 f{Eeaw 16 sist

a. ST 7fod RIS B crerse

b. RS s 4fog W B e

c. st 7foq @i wieelq afdos

d. 7S sieR Wi sieerm I @t &

TB3: (a) 17T 7fog Wi i @rsre

1yt : R orerrar 19 9ft [Rfrmala o1 e a1 23 939 e @it s 2 -
ST 75T WP Bieerm @rsiee |

5. TN (atom) (TP 49N WA 2710 3090 (T ST A@eT 27, O
3 q=?

a. PG AN
b. wrafas s
C. WP *If S
d. ofbe Qdrgsot

T8 (c) WIRBIY xS

JITATT : AT (atom) (I 9P WA “AfK70 200 @ AT d@red 27, ol
MIBCIEER R e G




6. fateg 196 e =19 IITIT B3I ¢ofy v TI?

NH4Cla3sNH,OH
CH3COOH @38 CHsCOONa
NaOH @38 NaCl

Nast4 R HzSO4

on oo

$wd: (a) NH.Cl @38 NH,OH
T : NH.Cl @32 NH,OH e sH13is 519 53 ¢ofs 511 |

7. @fA9-0 (hexene-3) (P19 AFNII AFIYOT &7 FEH?

. PRI (functional group)
. ™1-G1=7 (cis-trans) sttt
QI8 (enantiomer)
T (optical) STRIYST

&ed: (b) P1-Ge7 (cis-trans) SISt

QN oo

AT : &fFF-0 (hexene-3) F91-ST (cis-trans) SIS &vda FE|

8. (1 17T 3Y1ae @ 3T QfsTe Sergg sy <Kfew $3?

Na

H*, K2Cr,0-
NaOH
Na,COs;
Twd: (a) Na

AT CITETIN 39T 8 3T Qfsre Sewg 3 [Kife s@|

®an oo

Here's the content from the next pages, formatted as you prefer:

9. 1000 m| #/1fcs 58.5 g NaCl &g 211 Q3 GIND 5 71 27?

a. 1 molar G39
b. half strength &I<
c. 58.5 g percent &9



d. 5.85 M B9
T8d: (a) 1 molar B39

JIrATE : 1000 Ml Tt 58.5 g NaCl BTIIgo B TIEF gaqtat 1M

10. 19 fRggafe wfd<s?

@R 1S BB ES A=Y 8 W I |1, 36 I
@R 1S BETFES A=Y 8 W I |1, 36 I
@I i (2B AR IR, G HITD
@11 g enfos w9 @, Gift v

on oo

T8 (c) @I 2 (BN 8439 I, GIf6 HIFTD

AT (T AW @B A3 I, Gt T

11. a6 QI 6B 2MIdT JIRT! 53, 2¢, 8 vy, (FF Agfore a3 f6qfB
AL 7|4 I TNI?

5 @5 (fractional crystallization)
d (crystallization)

T f9s9 (solvent extraction)

e #ied (fractional distillation)

on oo

T8 (a) W @IS

AT : SR FEAET TG 77 ofb & 71T I T

12. @967 WIAFIY AfFT 9 A9T?

a. Na
b. Mg
c. Cs
d. Ca
Twd: (c) Cs

AT : Cs QT WIS < Fg 9 F 1T



13. 25°C ToIY g WIAT SIPA 5?2

1.0 x 107
1.0 x 10"
1.0 x 107
1.0 x 10

on oo

&83: (b) 1.0 x 104

AT : 25°C @ [Fag, *nfag snafas gaws 1074

14. 10% Na.COz;T@IqT (JTIF I971al $97?

0.9434 mol/Kg
0.9434 M

10 mol/L
0.9434 mol/L

on oo

Twd: (b) 0.9434 M

YT 2 10% Na,COs Tid @IS Iadtar 0.9434 M

15. SnfIfss sTRIoT =S @15 ?

a. oif&s vt

b. afsxifere wm=fea
C. WIpIq

d. EBIE s

e (b) afszifore srefea
AT : SIS STIoR 1% aAfsHifore syaea|

16. Stg af>1e 8 g7 17 BIGHE SAYS e &1a{6?

a. ARG
b. AT
c. RUzs w@e



d. feoars
Tad: (c) W3 @&

AT : I QPTG @ e IR GIRGHIE Sog@ oI 3 AR W@e 8 [NAE
@

17. Srifaeat afsto @ FIFIRIBTGs R INT W™ SIS @19 (@ NIGants
(chromatography) “&f% sIqeT SITaT?

a. IS @ NIGIANTT (paper chromatography)
b. I @G (column chromatography)
C. T (@IS (gas chromatography)

d. SIoe BF @GNS (thin layer chromatography)

Tad: (b) N wEIGIae

AT SIFRET 9SG 8 FIFRIREGE THNE W™ FHICo FATN (@IS I3
A A

18. (19 19I5 wig=s FACgrei?

MgCl,
FeCls
CaCl,
AlCl5

QN oo

T8d: (b) FeCls

AT ; FeCl; 916 s ARG (TrenEd 67 f[99w) | Fe, d 3 Qe 28T wfg<s
QIGIRIEEG]

19. R-CH,-Br + NaOH(aqua) = $:9™ fq6d (19 (AT JTGIH SAEI
fETfo 9B?

. BTgifefers afegreo
Sere &fear
MR RSIG)

. TR afewem

QN oo



e (d) TP aAfogrom

AT : R-CH,-Br + NaOH(aqua) = & G&iaat afsgieq It fasfpefnias
ATSHIIER O ST [T 96|

20. AT ATFRIBIGIRCGT AFS (FIH5?

CHsCOO-COCHs;
CHsCH; - O - CH2CHs
CHs - CO - CH,CO-CHs
CHs; - COO - COO - CH3

on oo

T8 (a) CHsCOO-COCH;
TLAT : BT FRIBGIRGT A6 CH:COO-COCH;

21. fqe7 sracmifere afsio 8 =1ag &g &fET a2

H.SO,4 + H,O = H,O* + SOy~
NH;+ H,O =2 H4sO*+ NH»
HCI + NHs = NH4* + Cl-
HCI + H,0 = HoCl + HO-

on oo

$wd: (c) HCl + NH; = NH4* + CI
AT AifeTe Qfste 8 Wi HCl + NH; = NH. + Cl- fRfe(s sifd<si

22. 57 UV ffsaces oz ge (It 3% (q-

a. WWIISH (ionosphere) 8 oG (troposphere) @ AT STeTaB (03)
b. TFIIGH (ionosphere) BT ST&ITBF (Os)

c. GUANYS (troposphere) N5t I

d. SGIGICHIIE (stratosphere) AT STEBT (03)

e. &@q: (d) SHIOGICHAN (stratosphere) AT STETABET (03)

AT SR UV RIS 61607 o (I 37! (- SGIGICHAIE (stratosphere)
FT STSFBF (Os) |




23. §-Ad7 e wltge wfjces (DO) R &7 I3 713 ?

a. DO 8.0 fAf¥rax vz e AT SIS
b. SR SeifRfste DO AT
. (&1 39y B DO @ =T

d. DO 8.0-v.0 ff*1ay A=t SETIETH

T8d: (d) DO 8.0-v.0 f5if$ay AT ey

AT : DO 8.0-v.0 ff¥aqy ATFT A eI

24. CGS system @ #fx31f3oT (conductance) @3 933 52

ohm
rad

volt
ampere

on oo

$wd: (a) ohm

AT : CGS sgfore sifFize 9 367 ohm ' | o aft a1 AP FIe<eife worq
BT Ans A (ST 3R |

25. fqter @raft o1 #ifag s1732R ©e?

el (NHF ISP
GoIGR “Af
R @ ITT
CIECRAIG

N oo

T8 (a) S8l (@I ITD

I : ST 2NN SIPTYRT F&T T8 @IF 7T (YA Wiemlfvre #41fd) a7 o4t
AT 5.523% T AT |

ALITATEAT: @B B FAdE S| ST *nfIg FeE T Tt 3T FuE QI (T WPE
I, TE & T (@ (TTBIF O T8 @ G SIS E @R I8 41
IR TGR “AIfAg 9T RPN B3| T8 @ ITTE "IHIIRR" I QIR GF *OIRIF
sifzarer faeg er |



Physics

1. At ol gEHIT oI5 IT?

a. OFA

b. @fes e
C. WEGHIES
d. IBHISTS

TB: (C) AEHITSY

AT : OfGR FEDIW OIH- 5) (TOIF OIF *) VIAWHIGES ©I5 V) WIENRS I 8)
I W ¢) Ao I v) a  q) s It

2. Rrea 1 qt St AN @ o $AEFs (F1H I9 o 9FIgo
SEMRCEF?

Rresaiq Ty 71 Q@ 5fe GFs I
e 8 HJ S fa o7 *
S<pe STy 67 8 BRUGIED I
vt S 991 @ v fefza =

T8q: (b) ofberiass 8 7 [T I

AT : ATHEAT WA AN SARFINST 8 N7 77 [FSfFm I a3k ofoe g I a3
T SIS B9 FECRS T ATAN -ST315f 97 Tg I “AfHoo|

QN oo

3. @19 RISt ST Faod aF @I 919 (F (NGB ?
a. WRYH FIF
b. W3A>GI3A
C. WIS
d. WHAH

T8 (d) THATE



71t : AfSTS =S T 1 ST Fu T wkerey aFF | TRWE *feq a Fa
I TN AT @B |

4. (196 Tifgs @6 99°?

a. (Ites b
b. fore =S
c. X7 @b
d. 553 fo

&ed: (d) 55 =6
AT A o J& STHTARN N - ) Y fo =) 216 =6 0) o o |

5. f[Sea 1Ao7 ©oi9 38T Tl IINs Ao @ ?

a. I sa@sy

b. ©7 3 gfq WCHT WIBIF*
c. &f¥s @

d. &fizs oret

T8d: (b) 7 3 gfq WCHg WIBAE

AT : I IBI TGO IS ©F 8 T WEHT TIRIET 39T [T I |

6. (16 @5Tan3 (SI) 9FF 97 ?

GG
&efed
freettars
BRG]

T8d: (a) o=

JITATT : OIFNIGIE O3 W13 QFB-( o, OEFT O W13 QF5-BEATAN, AT O3 W3
O55-TNBIE | T8 WiToEa O |3 aFs g1

onNn oo




7. (319 fqorold 5@ (&b 3f&d T IR IS0 fofa?

a. °f&s
b. @IV SI@
c. &fIs saEs
d. ©3

T83: () @AfIF oI
AT : (S5 3 &T I IO I fSfE 3@ @fAF SRR faere! s7a|

8. so (Ffer BT A B I/IT AT SooN I AT FICH IV (S ?

100 m/sec?
10 m/sec?
1000 m/sec?
0.1 m/sec?

on oo

Swd: (b) 10 m/sec?
T . F=ma

Or,a=F/m=100/10 =10 m/sec?

9. FIeIfIT SIFINTATr 8 BItot WfFTET WY 516 I*FFoT I 972

261 m/sec
. 461 m/sec
161 m/sec
361 m/sec

N oo

Twd: (b) 461 m/sec

7T WSl SrefTar 8 Biest SifRce ST 516 I5f&0sR 3579+ 461 m/sec

10. @f6 220V - 40W Jcgd Je& e 5 sifdae ofde 71z 33172

0.5A
5.0A
2.0A
0.2A

onNn oo



Ted: (d) 0.2 A
A7 P=Vi
Or,I1=P/V=40/220=0.18 0.2 A

11. (T AT AT TI5 (LT T I ?

et
et

T
RIJ

T8d: (d) @It

QN oo

SIIEUIIN

QS - 380 -425nm
I - 425-445 nm
?q7 - 575-585 nm

oI - 620-780 nm

12. {953 @19 Itga TR T3 N1y 8 ofee sias «IfS fafa w3 732
a. “IGaArsiGE
b. SuIfJGIE
c. MTSIEIIG
d. sy 6"

Ted: (a) fAGarsiyeE

[T : e s1od AgfSte @ @ AR (@IS JE Ko @37 8 Ry v =fe
RO [T 31 T OIS AGARISNGIR I |




13. orotsifsimnz @[ sas fofe s iR cofy 31 232

. et 5@

a
b. X«rod 57a (zeroth)
C. N A
d. QO @

$83: (b) xaroxN 9@ (zeroth)
AT SIS arow @ T S f6fe @ NTRNGIR ofF a1 3@ |

14, T AAITHA (IS FIFCY B ?

Z.

ARG
afSwea
JfoeR
. effosaa

T8d: (c) Iyfona

AT A WAoo oo Qg I 0 |

on oo

15. fFEAISTAIG-TBIF AN SAT TP &19fG?

a. 1kWh = 6000}
b. 1 kWh = 1000 |
c. 1kWh = 3600
d. 1kWh =3.6 x 106 |

w3 (d) 1 kWh =3.6 x 10
T TkWh = 1000W x 3600s = 3.6 x 106 |

16. a6 4163 F® WS @BF I W AT 3a & FAT fasfo 272

Sre=et Pifose
e n]

BETPG
oSG

onNn oo



B8R (¢) 3G

I GTOF FMIT SR TRIHTS FNEI IS S I A (@I Roimpia
o35 (TN wisrsfa af0r) weifso ze 83 *mid 305 3 gy fJsfo =3, @ 964
AP Ofe & Ic|

17. ©IearS g A 19197 (reversed biased) 2t fastIf¥s B3 (depletion
layer)-

aF3 A
. Jftn o
98 =
. RIS oA

Ted: (b) Ifn o

It RerSte IeT Sieiced [Nseifyo wwera @4 i i)

onNn oo

18. (TSI TNTIIS ST SO 3 (AT (AT I3 -

5/2 IO 3R
/2 ATGITE IR
8 B9 NGt 3R
2 B9 eIt 3&

QN oo

T8d: (C) 8 BY ITITS I&

I T o« L [T=2T=1, L = (S ]

FORNE, (AT TTIDIH B FICO (A AT (MK I3 BIRIST IS 37|

19. I @ AICNF FLIIO! (1Y 0° R FICSF AfIFIr 303~

on oo



JNT ; I 8 AANT FLIIO! GBI 0° 30 BTG AGIH 3T Q7L 90° 3 AL VH 3T

20. v« fyefaa I« IRT way wrdt 34-

(A6 5T
ST Y
ISIRET

. [SgGa =
T8q: (a) [RGr =g

AT : A T eiFa 39 53R oy wrilt =291-f{1 |

on oo

English

1. Antonym of 'deceive’ is-

trick
cheat
mislead
advise

on oo

$wd:; (d) advise

YT : Deceive (AR, G 2t SISl 1) is similar to trick, cheat, mislead and
opposite to advise (I e |

2. What is the 'noun' form of the word 'beneficial' ?

a. beneficialness
b. benefit

c. beneficient
d. beneficiary

Twd: (b) benefit



J7TAT : Beneficial (Freea<s, $AFIG1) 3¢t adjective. Benefit, noun & verb Tex et
TS 3 T W 36 SoIBIF A 411 Beneficiary T 7q a3t 1 go e siovifex
TeaifaFIRT a3 Wfts noun RGIR I9T© 31 & Beneficial @F noun benefit 2,
FI7 Beneficial a3 @Y foq1 ©13, Beneficial @ Noun Benefit @ Beneficiary 5351 218
Benefit is more accurate because of the meaning.

ORIeig DAT 2020 @ @3 IJF &9 Qoiz| "Benefit" a3 Adjective R "Beneficial" |

3. Which of the following is the meaning of the phrase "read between
the lines" ?

understand what is implied not what is explicitly stated
read what is categorically stated

read what is implied

understand the inner meaning

on oo

@3 (a) understand what is implied not what is explicitly stated

71T "Read between the lines" means understand what is implied not what is
explicitly stated. SR, @G I 2= GIfE IrOT© Wy @IET B W JATS 21T A
215 297 Oxford Learner's Dictionary (5 I |

4. Identify the tense of the sentence "She will be starting her new job
from tomorrow"-

a. future continuous
b. future perfect

C. present continuous
d. present simple

Twd: (a) future continuous

AT future continuous tense Q3 structure: Sub + will + be + verb +ing +
extension

Here's the content from the next pages, formatted as you prefer:




5. Select the sentence with a noun as a premodifier-

a. We enjoyed a fabulous outing in the evening
b. We had a pleasant journey this time

c. No passenger flight departed on the day

d. We booked a spacious room

&ed: (c) No passenger flight departed on the day

JrAT: C no. Option ¢ 'passenger’ ==t @6 noun a3t flight A6 & I77° 3@
premodifier RGIR Frer Iz | AW fabulous, pleasant, spacious =T adjective
premodifier.

Formation of Adjective @3 Rule SI§IE I ous B Spacious, fabulous 53t
Pleasant I3 $8d 3 |11

Q=gIeIg Formation of Noun Q¥ Rule AT I er/r BT Passenger a3fo Noun.
B3 &6 C|

6. Choose the sentence with incorrect use of a phrase-

I don't want to hear a long description, I just want the bottom line.

When I come home late, my wife gives me the third degree.

Don't sell yourself short, you are a good doctor.

Now that the construction is almost finished, you can pull out all the stops
and take it easy.

QN oo

T@d: (d) Now that the construction is almost finished, you can pull out all the
stops and take it easy.

BIEUIK
o Bottom line means essential points.
o The third degree means lengthy and pointed questioning.

o Sell yourself short means to be modest about your achievements and
good qualities, so that other people do not realize just how good you
are.

o Putout all the stops means to make every possible effort.



D S*M1afbre @y Construction & ¢1F, B3 QI Wi [l effort (STIF A
GEY

7. Which of the following sentences contain an adverb clause?

You can be allowed here only if you are a student*
The house in which we live at present suits us

He is a man who is rich

I have no money thatI can spare

on oo

&ed: (a) You can be allowed here only if you are a student

AT "if you are a student " clause b @4 adverb clause =t verb 'allowed' &
modify 3tz | WiF 1 fSaf6 option Q¥ clause ST noun & modify F@E| B13
QA adjective clause.

8. Which of the following sentences has the correct subject verb
agreement.

a. Traffic jams in the parking area was one difficulty for the visitors
b. Not only Sufia, but also Nasima, want to visit grandma

c. One problem for the layers was unexpected threats of injury

d. Somebody want to speak with you

T@d: (c) One problem for the layers was unexpected threats of injury
T

o (A) ¢ traffic jam 3@, B9 traffic =TT uncountable noun T Y@
verb/noun singular 2 |

o (b) & notonly...but also =BT but also AT AR subjectwqinﬁrverb
3. We QAT wants 3 |

o (C) @ verb singular 31 &R option 5 3= itz

o (D) @ something, somebody 3whiftt vt &9 T subject R
J]Fo =, O verb singular &1 Wik QAT wants & |




9. The teacher has repeated herself twice.
Here 'twice'-

a. adjective
b. adverb

C. preposition
d. noun

Swd: (b) adverb

AT QAT twice ==f 'repeated’ verb & modify @1 o3 @ft adverb.

10. Which of the following is not a noun?

a. friendliness
b. softly

c. livelihood

d. responsibility

Teq: (b) softly

AT : livelihood, responsibility, friendliness Q&1 3¢ noun. Softly ¢ adverb.
Adjective + ly 31 QMIFerst %@ of adverb =1

11. Fill in the blank with appropriate word "I am very proud __you"-

in
for
of
to

o N oo

Tw8q: (c) of
7T : proud of W 5|

12. Synonym for polite is-

a. kindness
b. rich



c. brilliant
d. courteous

Twd: (d) courteous

AT : polite (FfST5, BH) is similar to courteous.

13. Select the correct tense "I had been studying English for five years
before I moved to the USA"-

a. past perfect continuous
b. past perfect

c. present continuous

d. future continuous

T@d: (a) past perfect continuous

77T @ past perfect continuous tense Q3 structure : Sub + had + been + verb + ing
+ extension. QTH@ GIE! TS OO TTF I ISFF TN 7S 57 Ao QRN
for/since ;%% 2|

14. Select the complex sentence with an adverb clause from below-

I have no money thatI can spare
You may criticize what I do

I am sure that I will pass

He is so weak that he cannot walk

on oo

Twd: (d) He is so weak that he cannot walk

AT : 'he cannot walk' clause f 'weak ' adjective & modify Fcz| afb adverb
clause.

Here's the content from the next pages, formatted as you prefer:

15. Which of the following sentences contain an incorrect appropriate
preposition?

a. Clothed with shame, she left the place



b. He complied with my request
c. Early rising is conducive to health
d. He was charged with theft

&ed: (c) Early rising is conducive to health

AT ¢ clothed with w1 WemIfers, complied with -1 (I @81, conducive to W TR,
charge with @< ciiey WSy 38

BT oRfS 'ge' Soigw feenferage et ofae s Iy, 68 (¢) W
"conducive to" IR FFIVICOIR AT | QT WA 3¢, 77 20 geroIR ofF 41
R W 9 ) (13T SSATD G |

General Knowledge

1. I5RF 714 JFEIF IRFEE "Poet of politics” S+ifa (x F19 Afa1?

. ifay

. oo

. o Brae

. o Freresit st

$BF: (b) i fGeess

AT : ¢ AfST 555 I IFF SIS e T35 IS ore g 32w
'poet of politics' It Soitfy oam

O Q

o N

2. oI5t FRegfRmpers 99 o oifscd 35T IRFRT Jo51317 I @92

17 916 2010
14 315155 2010
15 =156 2010
7 916 2010

on oo

Twd: (b) 14 =05156 2010

AT A v IR 91T 58 WIHTH 2050 AN GIp! IR /I SIS o 35T
cTe YT T2 IRJATTrT o5z A @R |



3. Q¥ Q FIF AIFIT (FIAT 300 FEFTOIT (IFN2AG 2ATS FEA?
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o N
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d
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'ERY

T8 (a) 519

T RREIER BRI SroimoRm, JANrerog, sTog 8 4N aAFol a3 B g
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6. ILITHCIT ASTHT AYY SraTAd I 3T IO OIfCd?

2 BB 55A5
QTG 5995
R afds s5as

2 S 554

Twd: (b) 2 JE 59a5

on oo

AT : 2 G IRATCIT ST 216151 st | 9 e a3 o Gt Reafvreaas e
T AT T AT (OIeTl IEEH | IS SINET ST AN Jra FIRALE GTaret
T AT o 33T AT SO FEREH TIFHI Ao A 5T ¥ ARG
I

7. IF&I I AN OF 3T (@19 SIfFY (ATF?
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> SgRIfF 2020
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TBd: (a) o TIAIT 2020

TR & S0 TFHIR 2020 AE STIfSF fror I5R—F T4 I I S ToII[B!
THIAET TNV (FIEBTIO) BF (@ | &I [P ¢BIT @RISR (GOig
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on oo

8. T TOF WIJIT I JRTN 3 FUoN (il (1 7f5?

a. Il 38 B0

b. Iz Q@ ATV
C. SIS S Frompil
d. SEAT 8 2APSTT
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9. "q JICEF ©IFY W s Fqqord g0 niere" - Sfeft F17?

a. (B! FIIT AT
b. & ISR

C. RNl SR

d. @S ST

T8 (d) @IS ST

JIIATT ;" q JEF OIFY W e Tl Jo nfee” St v Ifamkaad @of
T FIICGe |
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